_ _ _ FALFEAFF AL 0)?&#5(’3?55]0)15#%5]1 30.12ppmEl E D HED) _ _ (BEfr:H)

i (X)ET#f HAERA SR8 | T A9 | FRR10[ Bk 1 1 1 2] F k1 3] F B 4 SF Rk 15 *F Bk 1 6] A 1 7] “F Ak 1 8] “F Rk 1 9] “F B 20 *F Bk 21| F .22
Kk E X EEPNIA 0 0 1 1 3 2 0 0 1 0 3 0 0 1 1
RrmtbfEX | tbfEX &P 0 0 6 0 7 4 1 1 2 3 3 1 2 0 0
KirthdaE)IX [[RhFR 0 0 2 2 1 2 1 2 0 2 2 1 0 0 1
KirhiE) X 183 ) X & PR 0 0 0 1 1 1 2 2 0 3 2 0 1 1 3
REHAFX [ ER 0 0 0 2 3 0 1 1 3 4 3 0 2 1 3
KErTHE X KEFFER 5 3 4 2 6 6 7 3 5 3 9 1 3 2 4
REHHEER — [EEB/IVER 1 0 6 3 10 2 5 3 3 4 4 1 0 1 1
KIEhEZIRX [FINFER 0 0 3 1 3 1 0 2 4 4 3 0 2 1 4
KEHFHFX  [{BERER 2 1 4 3 9 4 5 2 4 5 4 2 1 3 0
KRR  [§EFFER 0 0 1 1 1 1 0 0 0 0 1 0 0 1 1
KR X NEF/NER 0 0 3 0 5 2 2 1 0 1 1 0 0 0 1
KRhER X Sk B AL /INERR 3 2 2 1 4 2 2 0 1 4 11 2 2 2 3
KIrMEERRX 3R 0 0 2 1 4 2 1 1 2 1 2 0 0 0 1
(KR EZIX |FEEPRANE — — 0 1 0 0 1 1 0 1 0 1 0 0
BEHIERX DRF 0 0 9 3 1 2 0 1 0 1 0 1 0 3 2
BhfEX EF 1 0 6 1 1 2 1 1 3 3 2 0 2 2 0
BhiEX hiE 0 0 0 2 4 1 0 2 1 1 1 0 1 2 0
IR X %H 0 0 9 4 5 2 3 3 3 2 1 3 0 5 4
BEHIERX =% 0 0 1 1 2 1 0 0 2 1 2 0 0 0 0
BEhEX P TN 4 1 7 7 16 10 6 7 7 6 10 5 3 5 4
BhEX EBER 1 2 17 3 15 7 4 9 6 8 10 6 2 9 5
EhEX NS 1 1 16 2 13 3 1 6 3 5 2 4] — — —
by == =4 EH 0 0 7 5 4 4 3 5 5 5 4 2 1 3 0
BhERX EJ — — — — — — — — — — — 1 1 1
=i FAEPRAE 0 4 2 4 0 3 0 2 1 2 3 2 2 1
E AT HEINER 1] = — — — — — — — — — — — — —
Lhth 2 H 0 5 5 1 7 2 4 2 9 2 0 0 — — —
Lrhth F Rk 1 0 4 1 4 0 0 0 0 0 2 0 0 1 0
AT AT IEASEE 0 0 1 2 5 0 1 0 1 0 1 0 1 0 1
WwH ™ W A E K 0 0 0 0 8 2 7 2 2 2 6 0 0 0 3
WwHETH wHETILHEE 5 1 16 6 16 3 9 2 6 6 11 6 2 0 2
wHTH wHETIIE 3 0 0 0 0 0 1 0 1 0 0 0 0 0 0
RKEH RRKERRBEISY 1 0 1 2 1 1 0 o — — — — — — —
RXEH RREHEAUT) 2 0 0 1 0 0 0 0 2 0 1 0 2 2 1
E8tH =Yl 0 0 8 3 10 4 4 1 10 2 6 1 0 3 6
[SLisAitl St 1 0 5 2 3 1 0 0 6 3 0 0 0 1 0
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BiZm Bixth/EFE 1 1 7 3 0 1 1 0 2 0 4 5 3 5 1
FOTH SEFORER 0 0 2 1 5 1 0 0 0 0 2 0 0 0 4
SFATH F—HER(EHR) 0 0 0 0 3 0 1 0 0 0 0 0 0 0 0
AT FRIERCKH) 0 0 2 0 3 0 1 0 0 0 0 0 0 0 0
SFOTH F=RER (8) 1 0 1 0 3 0 0 0 0 0 0 0 0 0 0
WA™ IFES 2 0 5 0 3 1 0 1 3 1 0 0 0 3 2
AT WATH&E 0 0 6 1 4 1 0 0 6 1 0 1 0 1 4
WAT FIZNE 1 0 4 0 5 0 0 3 8 5 1 2 0 1 2
WAT HEB 0 0 5 2 5 0 0 0 4 0 0 0 0 — —
FkARTH RATIZFT 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0
F &Nl HE/INER — — — — — — — — — — — — — — 0
J\ET INEREM 0 0 8 1 3 0 1 1 0 0 3 1 0 1 6
RIEHH o UN of — — — — — — — — — — — — — —
RIEHH It RIEEF — 1 8| — — — — — — — — — — — —
RIEFHH ST — — — 3 6 1 0 2 3 1 2 1 0 0 0
RIEHH RIEBFHE 0 0 4 3 2 1 o — — — — — — — —
= HMH EEMTER 5 4 5 3 12 12 6 15 10 9 14 6 1 5 4
EEJIH EERJIH&EER 1 0 4 3 7 2 1 3 2 2 8 2 0 3 5
EEJIH B H 3 1 1 6 9 4 4 5 6 1 6 3 0 0 0
AREET —HHh L EfE 4 2 9 3 9 15 7 15 7 10 11 8 1 7 4
AR TH AELBEF— 0 1 0 0 1 0 0 0 1 o] — — — — —
AR T KIZFSK 0 0 0 0 0 0 0 1 0 1 2 1 0 0 0
KEH KEHEF 1 0 5 0 5 3 0 0 2 3 4 1 0 0 1
MR T BEINVERR 5 1 9 2 7 9 4 4 4 2 6 6 3 5 3
48R h ML EfE R 5 2 9 1 10 11 5 8 6 7 5 3 2 2 6
waET HETER 0 0 4 0 1 0 0 0 0 0 3 1 0 0 0
PFAETH FAEH %A 4 1 1 0 4 0 1 2 4 1 3 1 0 0 2
PAEH FAEHmE 1 1 5 2 4 1 0 0 7 1 5 0 0 0 1
=t =k = A BFER 4 0 8 3 5 2 2 2 1 2 4 2 1 3 2
=4Ah SATAEERE 32— 1 1 3 1 2 1 0 0 0 of — — — — —
=t =kl =R HbE SR EH R — — — — — — — — — — 0 0 0 1 0
=Aah PRZE 2 0 3 4 3 3| — — — — — — — — —
Sk=hi] &5/ FER 2 0 0 4 0 1 0 1] = — — — — — —
=AM A /NFRR 5 2 7 2 12 2 1 5 o - — — — — —
BEHFT AT &R 0 1 5 4 5 3 2 4 4 5 11 3 1 1
i ERFR/NER 0 0 0 2 3 0 0 0 5 7 7 2 1 0
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()R BERA SR8 | k9 [ 10[ 3 A1 1| Ak 12 3 Al 13| 3 Bl 14| S B 1 5] 3 Al 16] T AR 17] 3 Bl 18| 3 B 19| 3F Ak 20] F k21| 3F Ak 22
E PNl BEXAERTAEREE2— 0 2 11 2 4 1 0 0 1 0 2 0 0 1 1
E PN E NG LI 7 3 12 2 8 1 1 6 1 3 3 0 0 1 0
RETtH SEHEM 1 1 5 1 1 2 0 0 1 0 1 2 1 2 0
XEHh XM 0 1 1 0 0 0 7 8 9 6 7 5 2 1 0
MREah EE i 1 0 4 1 4 3 0 0 2 0 1 2 0 3 0
EZAHT %xﬂmﬁzi% 4 0 9 3 2 2 1 1 2 1 3 3 0 2 2
EHelT ERERT RIS — — — — — — — — — — — 0 0
HEERET Hﬂmf“‘i:z— 1 1 3 0 0 0 1 0 1 0 4 4 1| = —
W T mEﬂantﬁ(r" ) 0 1 4 1 0 0 0 0 0 1 0 0 o] — —
W2 T ZF 0 0 4 1 1 0 o - — — — — —
e BT Pk 1 1 5 2 2 0 ol — — — — — —
\ER T = 0 3 3 1 0 0 o] — — — — — —
RhIRX R %R 0 0 0 o| - — — — — — — — —
FHMHET REFEE 52— 0 0| — — — — — — — — — — —
EiRT FMBEHIE 1 0 1 0 0 0 0 0 o] — — — —
Lrhth El T 0 0 0 0 2 0 0 0 0 0 0 0 0 1 0
= Zrhth F B 0 0 0 0 — — — — — — — 0 0 0 0
*ﬁlﬁﬁ NGB 0 0| — — — — — — — — — — —
R EFF AR 0 0] — - - - - - - - - - -
EZEm EETEA 0 o] — — — — — — — — — — _
E PNl BEXEhEEFERE L2 0 0 0 1 0 0 0 0 2 0 5 0 1 0 1
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